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PPart I． 以下の英文を読み、設問に答えなさい。 

The Uros are a very old Indian (a) tribe that lives on Lake Titicaca, in Peru. 

Lake Titicaca is one of the highest lakes in the world. It is 12,500 feet ( ① ) sea level. 

The Uros (1) live there for hundreds of years on small floating islands. They make these 

islands themselves.  

 The Uros use totora reeds1 to make their floating islands. Totora reeds are tall 

plants that grow in the lake. The Uros (b) tie the reeds together to make rafts2. These 

are about 4 to 8 feet thick. When the reeds get soft, the Uros must put new ones on 

top. These islands last for about thirty years. Then they make new ones. There are 

forty-two of these islands on the lake. Each island (2) be home to several families. The 

larger islands have about ten families. The smaller islands have two or three families 

that live on them. Their houses, their furniture, and their boats (3) make of totora reeds 

as well.  

 The Uros have many other uses for the totora reed. One important use is for 

food. For instance, they eat the tender ( ② ) of the plant. They also make a (c) flour 

form the totora, and they use it to make bread. They even make tea form its flowers. 

Another important use is for medicine. To (d) take away pain, they wrap the plant 

around the place where they have pain. Finally, when they need a change from the 

totora plant, they take it to the (e) mainland and exchange it to get other foods or 

medicines they need.  

 The Uros have a very ( ③ ) of life. The men go (4) fish and hunt birds. The 

women cook on a fire over ( ④ ) stones. This way they do not burn the totora under it. 

The women also make and sell handicrafts to tourists.  

 The Uros like ( ⑤ ), too. Some boats have motors. Some houses have solar 

panels, and they have televisions. The main island has a radio station, and it plays music 

for several hours a day.  

 Sadly, more and more young Uros are going to the (e) mainland for jobs. 

( ⑥ ) Uros who live on the islands may get smaller. In that case, the Uros and their 

traditional way of life could disappear.  

注：1. totora reed 「トトラ葦」、2. raft 「いかだ」 

（出典：Broukal, Milada. What a World Reading 1: Amazing Stories from Around the Globe - second 
edition, p. 94, Pearson Education, Inc., 2011より一部抜粋。出題の都合上、原文の一部に変更を加えてい
る。） 
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1. 本文中の下線部(1)～(4)の動詞の正しい形を、①～④から選び記号で答えなさい。 

(1) live ① live      ② are living ③ lived  ④ have lived 

(2) be ① is      ② was  ③ are  ④ were 

(3) make ① make      ② are making ③ made  ④ are made 

(4) fish ① fish  ② fishes  ③ fishing ④ fished 

 

2. ①～⑥の空欄に入る適切な語を次の(a)～(f)より選び記号で答えなさい。ただし、文頭にくる

語も小文字で示してある。 

(a) traditional way (b) modern technology (c) above  (d) bottom 

(e) a pile of  (f) the number of   

 

3. 本文中の二重下線部(a)～(e)の語句の、文中での意味に最も近い語を、①～④から選び記号で

答えなさい。 

(a) tribe ① group  ② globe  ③ tribute ④ village  

(b) tie ① compete ② connect ③ touch  ④ tough 

(c) flour ① float  ② flower  ③ powder ④ sugar 

(d) take away  ① reduce ② remove ③ restrict    ④ put away 

(e) mainland  ① floating island ② main island ③ main area of the country 

   ④ larger island 

 

4. 以下の英文が本文の内容と合うように、①、②から適切な語句を選び記号で答えなさい。 

(1) The islands that the Uros live on ( ① last forever / ② are different sizes ). 

(2) The Uros make floating islands ( ① with plants / ② with woods ). 

(3) The Uros use totora reeds ( ① in many ways / ② only to make bread ).  

(4) Young Uros are going to the mainland ( ① to get new medicine / ② for jobs ). 

(5) When the Uros want to eat something different, they ( ① grow new plants / ② 

use totora plant as an exchange ).  
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PPart II. 以下の会話文を読み、設問に答えなさい。 

Lisa :  (   ①   )  You look down.  

Bob : I had a big fight with my girlfriend. She was late for our date, and I shouted at 

her loudly. (a) I shouldn’t have done such a stupid thing.  

Lisa :  (b) あなたがそんなに怒るなんて本当に珍しいわね。  

Bob :  I know. I had a long day at work yesterday. If I hadn’t worked overtime, I 

wouldn’t have been so tired.  

Lisa : (   ②   ) If you apologize to her from the bottom of your heart, she will 

forgive you.  

Bob :  (   ③   ) I wish I could have had a happy time with her.  

Lisa : (c)  彼女に電話して謝ったら? 

Bob : Yeah, I will do that.  

（出典：穐本浩美, 濵田真由美 他, Grammar Network: コミュニケーションにリンクする英文法, p. 84, セン

ゲージ ラーニング株式会社, 2019より一部抜粋。出題の都合上、原文の一部に変更を加えている。）

1. 会話文が成立するように、空欄①～③に適切なフレーズを以下から選び記号で答えなさい。 

(1) Excuse me.  (2) I hope so.  (3) What’s wrong?   

(4) Don’t worry.  (5) Are you joking? 

2. 下線部(a)と最も近い意味になる文章を選び記号で答えなさい。 

(1) I have done such a stupid thing.  

(2) I wish I hadn't done such a stupid thing.  

(3) I don’t regret having done such a stupid thing.  

3. 下線部(b)、(c)の日本語の意味になるよう以下の語句を並べ替えて英文を完成させ、３番目

と６番目にくる語の番号を書きなさい。ただし、文頭にくる語も小文字で示してある。 

(a) ① really  ② you  ③ so angry  ④ it’s  ⑤ unusual  ⑥ for  ⑦ be  ⑧ to 

(b) ① you  ② call her  ③ sorry  ④ don’t  ⑤ say  ⑥ why   ⑦ and  

4. 以下の文章が本文の内容と合致していればTを、合致していなければFと書きなさい。 

 (1) Bob is looking down.   

  (2) Lisa suggested to Bob that he apologize to his girlfriend.   

  (3) Bob had a good time with his girlfriend.   

(4)

(b)
(c)
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２０２２年度 名古屋芸術大学  
芸術学科（音楽領域、舞台芸術領域、芸術教養領域、美術領域）, 子ども学科 

一般選抜 一般入学試験 2期 入学試験問題 解答〔英語〕 
 
配点 Part I： 1-4 3 点×20 問  = 60 点 

Part II: 1-2 3 点× 4 問  = 12 点   
        3-4 4 点× 7 問  = 28 点 

 

Part Ⅰ． 

1 (1)  ④ (2) ① (3) ④ (4) ③ 
 
2 ①  c ②   d ③   a ④   e ⑤   b ⑥   f 
 
3 (a)  ① (b) ② (c) ③ (d) ② (e) ③ 
 
4 (1) ② (2) ① (3) ① (4) ② (5) ② 
  

Part Ⅱ． 

1 ① （3） ② （4） ③ （2） 
 
2  （2） 
 
3 (b)-3  ⑤ (b)-6  ⑧ (c)-3  ① (c)-6  ⑤ 
 
4 (1)  F (2)  T (3)  F 
 



名古屋芸術大学  一般選抜 一般入学試験２期 数学 

解答 

（配点：20 問×各 5 点） 

 

第 1 問 

 

第 2 問 

⑴ ① 𝟑 < 𝒙 ② 𝒙 ≦ 𝟎 ， 𝟐 ≦ 𝒙 

⑵ 

① ６０通り ② 24 通り 

③ １２通り ④ 10 通り 

 

第 3 問 

⑴ （２，−１） ⑵ 𝒃 = −𝟔 

 

第 4 問 

⑴ １５：２２ ⑵ １１：９ 

 

第 5 問 

⑴ 𝒓 =
𝒂𝒃

𝒂 + 𝒃 + 𝒄
 ⑵ X＝ 𝟐√𝒂𝒃 

 

 

⑴ 

① −
𝟗

𝟒
𝒂𝟐 −

𝟏

𝟏𝟔
 ② ２ 

③ 𝟐𝒙 ④ 
𝟏

𝟔
 

⑵ 

① (𝒂 + 𝟐𝒃)(𝒙 − 𝒚) ② (𝟐𝒂 + 𝟑𝒃 − 𝒄)(𝟐𝒂 − 𝟑𝒃 + 𝒄) 

③ (𝒙 + 𝟐√𝟐)(𝒙 − √𝟐) ④ (𝒂 + 𝒃 + 𝒄)𝟐 



Ａ ① ① Ａ ①

２点 ５点

Ｂ ② ② Ｂ ②

（一）

２点×２ ③ ③ ３点×２ ③

５点

４点

（二） ④ ④ ④

４点

３点 ２点×４ ⑤ ５点 ⑤

４点×５ ２点×５

４点

３点 ７点

６点 ４点 受験番号
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